Novatechs

GLAZED STEEL SINGLE DOOR
w/ or w/out SIDELITES

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the 5th Edition

(2014) Florida Building Code (FBC) structural requirements excluding the
"High Velocity Hurricane Zone" (HVHZ).

. Product anchors shall be as listed and spaced as shown on details.

Anchor embedment to base material shall be beyond wall dressing or
stucco.

. When used in areas requiring wind borne debris protection, this product is

required to be protected with an impact resistant covering that complies
with Section 1609.1.2 of the FBC.

. For 2x stud framing construction, anchoring of these units shall be the

same as that shown for 2x buck masonry construction.

. Site conditions that deviate from the details of this drawing require further

engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes

Door & Sidelite Panel Details

Elevations

Vertical Cross Sections

Horizontal Cross Sections

Buck Anchoring

Frame Anchoring & Hardware Details

O IN|ON (A [WIN|—

Bill of Materials & Components

81.69" MAX. OVERALL

37.5" MAX.
—] OVERALL  |=—
FRAME WIDTH

g 5z
= <=
< o N
(72} w5
£ 38

;=
5 33
i} =5
I o T
> 3%
: o

74.88" MAX. OVERALL
FRAME WIDTH

112.19" MAX. OVERALL
FRAME WIDTH

| 81.69" MAX. OVERALL
FRAME HEIGHT (INSWING)
80.88" MAX. OVERALL
FRAME HEIGHT (OUTSWING)

n
o
n
D)
oM
Z
N
Lo
w0 -
Z82
2 oM
- EEfn-
F 1 Do
3>n-07
D\\\ %) PRl
o o
W 6m®2
[E\-H ONO
v ©O ng<
o Z Z O
5 Eo FOo
a £0O | . cuw
2Ry 5028
L ¢ moaon
-y
o
o c
£ 0% §
5 O .
TN
o 2a
wn
=
[Cle)
n
&
<
e o
o =Z
QO o=
waq T
= | <O
< 2 =
2o |3 gy
Ou p=
=2~ o W
n |n o
0| =
< <X
= el Sa
S S| &3
[ ,_t'ﬁ‘:-'
o (e 4 o
o <
o o
>_
m
72]
zZ
©)
2}
>
L
[0
L
<
()
o
Pz

oATE: 6/30/16

scale:  N.T.S.

MAX. DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
CONFIGURATION FRAME INSWING OUTSWING
DIMENSION | POSITIVE |NEGATIVE | POSITIVE | NEGATIVE
X 37.5"x81.69" | +45.0 -50.0 +50.0 -50.0
XO / OX 74.88" x 81.69" | +45.0 -50.0 +50.0 -50.0
OXO0 112.19" x 81.69" | +45.0 -50.0 +50.0 -50.0

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20873.1

SHEer 1 oF 8

R:A\Clients\Novatech\A - Florida Product Approvals\FL-20873 Side Hinged Steel Doors (Endura Components)\C - Drawings\FL 20873 (2014)\FL-20873.1-4.dwg, FL-20873.1

© 2016 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Novatech\A - Florida Product Approvals\FL-20873 Side Hinged Steel Doors (Endura Components\C - Drawings\FL 20873 (2014)\FL-20873.1-4.dwg, 2.1

HINGE STILE (WOOD) INTERIOR - 2.88" LAT;H STILE (WOOD)
118" - EXTERIOR 1.18"
LOCK BLOCK
/"1 "\ HORIZONTAL CROSS SECTION (WOOD: 16" LONG)
\2/
TOP RAIL
(WOQD) ~
35.75" MAX. PANEL ____
WIDTH ]
&
D P
]
// 24 GA. STEEL
710N / . DOOR SKIN
(o]
\2/ | | =
= i
j J_
1} 4
o g
Z X ) 3 INTERIOR EXTERIOR
<C
0.
< (O) e
< ?
s
>
l\ jo
, FOAM CORE
Va
’ SEE DOOR LOCK
HARDWARE TABLE
@
3
40} NOVATECH DOOR PANEL <
50} NOVATECH SIDELITE PANEL i
BOTTIOM RAIL ﬁ
(WOOD) —
. 173" ——

DOOR SKIN: 24 GA. STEEL (0.021" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (2.0 PCF MIN.)

7“2\ VERTICAL CROSS SECTION

\2/

#7 X 1-7/8" PH SMS

"~ FRAME WIDTH |

INTERIOR

EXTERIOR

7

(:) GLAZING DETAIL

24" MAX.

21" MAX.
D.L.O. WIDTH

|t

66" MAX. LIGHT FRAME HEIGHT

63" MAX. D.L.O. HEIGHT

—

NOVATECH LITE FRAME

e

KWIKSET

N
\\\\
S A Lt 0
1/2" GLASS BITE S8 2
= 38, .
> == O
—— 1" OVERALL GLASS THK. = 5 Z
: . - o]
1" Em"'. Q 6 g)
1/8' TEMPERED GLASS = V™, z28am
/— -, ... S foc-
’/// .‘°'~- ane-® 5| g :(.)) [o)]
™~ AR SPACE 7 D 2cmso
: ST AN 9R .2
LTV \ N : T o x2<
1" N o = z 2 19
1/8" TEMPERED GLASS s B8,
o d .
STEEL SPACER \d\ SlEAE 3288
2w
HOT-MELT BACKBEDDING SEALANT § 9 §
§sd K
: Lug
3 & | 22
- S ol
g E’Q 3 Bo
| INTERIOR o |3 og
=G |9 8%
o d -— S N ’_'_: < 8
J BOo o
1ok f T =
o i A S £
| i L i & &
&
- 15"
#7 x 1-7/8" PPH SMS EXTERIOR
(TYP.)
@ PVC LITE FRAME 2
o}
%
&
©
3.25' N
(TYP) g
o
=z
oate: 6,/30/16
SCALE: N.T.S.
: DWG. BY: JK
KNOB:  SIGNATURE SERIES Pl LFS
DEADBOLT: SIGNATURE SERI :
LT:  SIGNATURE SERIES (980) 08751

SHEET 2 oF 8

© 2016 R.W. BUILDING DONSULTANTS INDC.



TON] SANVLTINSNOD anNidTINg "M 9 Lli02 @

£L86 '°N V'O 3dg4d

SNOISIAIY
LBLB'6G9°CLY "ON Buoyd Ag 31vd [ON -
G6SEE 14 'OdUIBA ‘0CZ xod O'd § SNOILYAI TS 2luilx 2 ™ 8*
- NS N w
‘ONI ‘SINVLINSNGD ONIgUNE \&“ KIEN3SSY 80 1avd ol . Q]S
32| | S|
60VEY ON I'd ¥00Q 1331S el 18lEg
WPIUYDS "4 UopuA] HOJLYAON SEIFIM
10NQaodd SRR [
(<2
D
~S
@ v //1/
mw_
el ot ﬂv
(19 X - 5
X W
LLt
(== (&>
p
//
0 o=l
////
mw
>
~ ISy
Dl e
(o)w) \
NG &l
W g
- JNO) Q
NS
< S X v /“4
////
= = mw
D
L 1]
™| v
oo
©|,0 ﬂv
/ 4
ﬂv ///, v v pd
nd. v //// w
—
(IR}
v ~4i()
—i i
™

T'€ ‘BMpp-T'€£802-14\(PT0Z) €280 Td\sBummelq - J\(siuauodwioD einpu3) si00Q (8315 pabuiH apiS ££80Z-14\s|en0iddy 12npoid BPUOJS - YAUPABAON\SIUBID\Y



R:AClients\Novatech\A - Florida Product Approvals\FL-20873 Side Hinged Steel Doors (Endura Components\C - Drawings\FL 20873 (2014)\FL-20873.1-4.dwg, 4.1

P

1

0¥
S 8 INTERIOR EXTERIOR
A\
INTERIOR EXTERIOR
A\
7“1\ VERTICAL CROSS SECTION /" 2"\ VERTICAL CROSS SECTION
4 lnswingLshown (Outswing similar) 4 / Inswing shown (Outswing similar)
2X Buck Construction 1X Buck Construction
A\ Y A\
INTERIOR EXTERIOR INTERIOR EXTERIOR
7 PC
=

1-1/4" MIN.
EMB. (TYP.)

/ 4"\ VERTICAL CROSS SECTION

W Inswing Adjustable Threshold

1-1/4" MIN.
EMSB. (TYP.)

VERTICAL CROSS SECTION

S

Inswing Articulating Threshold

Za NOTE:
b= 1. Spacing for sidelite screws (item M): 0
¥a 6" from each end (2 total). B
- D ;
— L O
fen
v a ] qﬂ . . ° ) g d 6.’.:
o » : . . < f_j oM
. . LB o H 58w
- . 0 S < . 00 5> 0
5 g - D 2.2
' —— : \ &R®2
XY > QO N - .
B Sl ox2d
‘\ e EO) _Z__ m g O
< 98]
g ge 255%
A\ N2 3ade
\© INTERIOR EXIERIOR {¢ v 5
| @ . g =
0 cul
, .@ S 3y
SEENOITE 1 o Jo K
T SEE NOTE 1
2 28
: D= -
= %
- =8 Bv
INTERIOR EXTERIOR = 5 E2
A\ —_ wo s ]
v = R <2 |a 25
RN N e - o IS SLJJ = O
S a ) * ’ ° . ZE % Em
/"3 "\ VERTICAL CROSS SECTION - T 17
4 / Inswing shown (Outswing similar) - > AN . . s -
2X Buck Construction = S
S &
b g |3
/ 8"\ VERTICAL CROSS SECTION %
\U Qutswing Sidelite Threshold
W\
INTERIOR EXTERIOR
// 2
INTERIOR EXTERIOR S
o
Lt
o
& .
<
o
, o
. =

7”6\ VERTICAL CROSS SECTION

1-1/4" MIN
EMB. (TYP.)

\U Outswing Bump Threshold

7“7\ VERTICAL CROSS SECTION

W Inswing Sidelite Threshold

oATE: 6/30/16

scatk:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-20873.1

sHEET 4 ofF 8

© 2016 R.W. BUILDING CONSULTANTS ING.




RA\Clients\Novatech\A - Florida Product Approvals\FL-20873 Side Hinged Steel Doors (Endura Components\C - Drawings\FL 20873 (2014)\FL-20873.1-4.dwg, 5.1

LT

EXTERIOR

0.15"
C'SINK

V&

A\ Y
/“X

INTERIOR

:\\\'\\\\\\.\\‘»\\\Ess\\\
: e 5 //f////'/A/,'/x//u/
c ‘ I t\‘
1-1/4" MIN.
/"1 "\ HORIZONTAL CROSS SECTION
5/ Inswing shown {Outswing similar)

EMB. (TYP.)
2X Buck Construction

015
CSINK

@

EXTERIOR

1-1/4" MIN.
EMB. (TYP.)

P é&@%

/\ HORIZONTAL CROSS SECTION

Inswing shown (Outswing similar)
1X Buck Construction

/\ HORIZONTAL CROSS SECTION

INTERIOR

lnswm%(shown {Outswing similar)

2X Bu

Construction

@

SEENOTE 1

]

A\

\

)

LIRS
AW N NS

-8

!

®

’

/~4 "\ HORIZONTAL CROSS SECTION

\5/ Inswing shown (Outswing similar)

0.15"

C'SINK

@\.

SEE NOTE ]

\\

3
K

FLEFEEPITEIIIEIET

S 1174 MIN.
: EMB. (TYP.)

e
s
a

/\ HORIZONTAL CROSS SECTION

Inswm%(

2X Bu

EXTERIOR

INTERIOR

/i

shown (Outswing similar)
Construction

NOTE:
1. Spacing for sidelite screws {iftem M}: 6.5", 38.5"
and 69" from head to sill (3 total).

SEENOTE 1

,,,,,,

\“Illll//(/

—

@/ &

/"5 "\ HORIZONTAL CROSS SECTION

U Inswing shown {Qutswing similar)

0
o))
0
)
oM
2z
25
1] -
282
<'c%."_)
’.___
_|§tog
3 )
2 L2
Ow o
W 6m22
0>3\ O N - .
3 o x2 <
? = Z 0“0
5§ Eo 300
a £0 ! LW
3% 502§
L Ty Do
82w
[ o]
® C
E 6% §
3 0V .
g su
o 2o \QD%
w)
78]
o €
o [&3%)
STe =z
Mo Iy 2R
< 3 56
= o =0
o |3 o
25 o N
n ly &
.. < g
b 14
O
2 o
e &
x <
[s ] Q.
>..
n
v
d
o
v
>
o] |
@
L
}.—
<
a
o
z
oate: 6/30/16
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-20873.1

SHEET 5 ofF 8

© 2016 R.W. BUILDING CONSULTANTS INC.



CONL SANVLINSNOD anNaTiing m'2 oLlng @

€186 'ON V'O 3dgd SNOISIAGY
L616'6S9°CLY 'ON 8uoyd i -
SBSCE T4 ‘OOMIDA ‘0€T Xo8 ‘O'd §v INIJOHONY %ONnd A A0 Ol 2lui|x L] v 8_
‘o__,_::..m!rzﬁ._:mzoo oNIGIiNG Mﬁ TIGN3ASSY 80 1dvd NI
Qe WNOs o/, 60vSr ON ‘3I'd 4000 733IS RAGE g | |
///mv...c.oﬁo..@....n. %, PIUYSS "4 uopukr HO31YAON IR I E R
II&... ..-. \J\Vim paodesq sjuswnsog 10NQ0¥Hd .DM m W 5 W %
Iy .W.ﬂh W\A\hﬁ.
30 Ty 2=
3xi ¥ I XTTFE
+ . eoveyoN I _
“ —.c .o. N nAn. = Amtw ‘
% e SeNaon A, & E — = (dAL) "XVW
\\\\&Q\&-o-o- \uw //// * :V U O :ON
\\\\ Iom /r//
LTI » =} 1 i I t
m X
z = O
D -t
=
2 1|
by 122 <
B g 4
L S- [
et ol ‘.w
R SE el
B <
= Ll v
; -+ :
! ] ] -
2
e e (dAL) (dAL) XYW =
4 "0'0.0C o)
t f 1 t I = =
F )
<
_ <
o 3
= O
g = > 2
P}
S| O >¢
cal*ll lllllllllllllll n/u o~
S 2 RS
Ad..nA o8 N'.Av
& 3E
T :A._ R
« ﬂ: H \ﬂ
I A B b 1
e = (dAL) : (dAL) XYW
« _ 4 00.0¢
| 1 1 i f
= [ S5 >
gy
r.A..l$ D( t!..‘
! A
3 : o
T I I ] .‘l/m
T 52 il s
9. . 4.:.‘. ﬁM Mll R e m
<
= E b
o™

19 ‘BMP-T'€£80Z-14\WT0Z) €807 T\sBumela - J\(siuauodwio) einpu3) siooq 12915 pabuiH 3pis ££802-14\sieroiddy 19npoid epLO|4 - Y\YIIRAON\SIUBID\Y



RAClients\Novatech\A - Florida Product Approvals\FL-20873 Side Hinged Steel Doors (Endura Components)\C - Drawings\FL 20873 (2014)\FL-20873.1-4.dwg, 7.1

FRAME
(TYP.) —~|

. MULLION — & (TYP)
et 6" (TYP. —
(TYP.) * ) ‘ j |
| !
l T | T _
1 \ R
R DETALL 1
R o _ E
2X BUCK ©r 2X BUCK =
1X BUCK 1X BUCK
HEAD & JAMBS N HEAD & JAMBS N
(TYP.) nE (TYP.) NE
H
SILL (TYP) SILL (TYP.)

(W)
®

—

®

/ DETAIL 1
I I

—

X

The head is attached to the jamb w/
{3) 7/16" x 2" steel crown staples {TYP.)

N\

Mol

XO /0X

\

N

2X BUCK

IXBUCK

" HEAD & JAMBS
(TYP)

P!
\DEWL]

(T—AABLLION

6" (TYP.)——-} ”]
I ]

\—DETAILl

SILL (TYP.)

(W)
(®)

S—

29"
(TYP)

/—' DETAIL 1 —-—\
n'd !

The threshold is attached fo the jamb
w/ (3) 7/16" x 2" steel crown staples &
(1) #8 x 1-5/8" wood screw (TYP.}

OXO

FRAME ANCHORING

#8 X 2-1/2" COURSE
THREAD
DRYWALL SCREW

0
[0)]
"
- o 1X BUCK G ®
zZ
= SEE HINGE 2X BUCK/MULLION - e o
I DETAIL 1 ® ] @ g s
¢ | lle Z 0 M
2 e Z T
=2 (0=, | =(9) %, > 5588
O < L7 *tevepes-® ) 5> 50
e ‘ DS 0 .=
5 O \ 1y, N ga®2
?'Dga_ W Iy H\\\cg\ S OZ
>R HINGE DETAIL 1 Qs 82 23523
L E - m
& g £3 8 2u
3 nJE8Y 5925
T‘ W 1X BUCK N ° ¥ Dogu
E g
. g €z §
8‘ ~ SEE HINGE o T ove— 2X BUCK/MULLION g gu_
> L ® L 11O-] 2 Xy
£ E DETAIL 2 . § .és@ o Jo \Q)g
~0 ey
iy \,
X \! n
o
HINGE DETAIL 2 & =2
sl o | 58 | &
5 5 |3 ek
HINGE JAMB 2l o |3] ==
== = |8l wd
Q1= R I3
1X BUCK I .. < Ex
R(0 3] 5 <
2X BUCK s a -
o Y
& <
MULLION o o
>_
i m
On s
1
2X BUCK/MULLION
1X BUCK 2
O
LATCH & DEADBOLT STRIKE PLATE DETAILS ‘£
&
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations af the comers may be adjusted to maintain the min.
edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. E
3. Concrete anchor table: g
MR . O
DETAIL 1 o - /|{EMBEDMENT | z
Integral mullion attachment ITW BUILDEX 1-1/4" OATE: 6/30/16
TAPCON® 1-1/4 scAE:  N.T.S.
ELCO " DWG. BY: JK
1-1/4 1" 4 :
ULTRACON CHK. BY: LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" 0.c. spacing of wood screws FL—20873.1
to prevent the splitting of wood.
SHEET 7/ oF _8

© 2016 R.W. BUILDING CONSULTANTS INC.



:\Clients\Novatech\A - Florida Product Approvals\FL-20873 Side Hinged Steel Doors (Endura Components\C - Drawings\FL 20873 (2014)\FL-20873.1-4.dwg, 8.1

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL

A | IXBUCK {G>=0.42) WOOD

B | 2XBUCK (G >=0.42) WOOD

C {1/4'MAX. SHIM SPACE -

D |1/4"X2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | #10 X 2-1/2"PFH WOOD SCREW {1.15" MIN. EMBEDMENT) STEEL

G | 3/16"X3-1/4" PFH ITW CONCRETE SCREW STEEL

H | 1/4"X2-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

J [1/4"X 3-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

K | #10X3"PFH WOOD SCREW STEEL

L |#8X2-1/2' PFH WOOD SCREW STEEL

M | #8 X 2-1/2" PFH COURSE THREAD DRYWALL SCREW STEEL

P |#10X1-3/4" PFH WOOD SCREW STEEL

1 | FINGER JOINT PINE JAMB (G >=0.42) WOOD

2 | INTEGRAL MULLION (ENDURA FATBOY - PINE, G >= 0.42) WOOD

7 | WEATHERSTRIP (ENDURA) FOAM

8 | DOOR BOTTOM SWEEP VINYL
8A | ARTICULATING SWEEP VINYL

9 | #8X3/4" PFH WOOD SCREW STEEL

10 {#8 X 1"PFH WOOD SCREW STEEL

11 | 4"X4"BUTT HINGE STEEL

12 | LATCH STRIKE PLATE STEEL

13 | DEADBOLT STRIKE PLATE (SECURITY) STEEL

20 | INSWING ADJUSTABLE THRESHOLD ALUM/COMP
22 | INSWING ARTICULATING THRESHOLD ALUM/COMP
24 | OUTSWING THRESHOLD ALUM/COMP
27 | INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
28 | OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR DETAILS -

50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR DETAILS -

N 456"

[ e ————
% i
236"~ S

( : ) WOOD JAMB

4.56" '

20 INSWING AJUSTABLE THRESHOLD
Endura (Series ZAIL4565)

4.56" ’

22 INSWING ARTICULATING THRESHOLD
Endura {Series ZACL4565)

SIDELITE

T . ADAPTER

4.56" |

27 INSWING THRESHOLD w/ SIDELITE ADAPTER
Endura {Z-Series)

. SWEEP

2.5"
r\ ™\
(o}
%
—~—1.5" ==

@ INTEGRAL MULLION
3
' 2.1" ©

el ok

ot ]_5" -

24 OUTSWING THRESHOLD
Endura {ZOBL4565)

SIDELITE ADAPTER

4.56" l
28 OUTSWING THRESHOLD w/ SIDELITE ADAPTER

Endura {Z-Series)

SHEET 8 ofF 8

0
[o)]
)
.9
oM
e
o5
wn -
Z82
Lc22
S50
3 )
@ R
w0
&ERr®02
O N -
5
T o xz<
c zZ 270
Ea 509
58 S5
N 2 O...Cm
¢+ Doouw
LL .
Q
[
<2 |V§
T .
cu
2o \ng
B
[V <
o) =
(S]] Lol
S s
o |2 =a
L} m =
S B S
n |a SE&]
.. <42
[ xi M
[®]
= o
S &
& &
>_
o
wn
z
O
N
>
0
o
5]
z
o
w1z
= 1<
- I B
o 3
4 12
O 0
z| jo
0ATE: 6,/30/16 2
scale:  N.T.S. g
Ju |
DWG. BY: JK o
CHK. BY: LFS 3
DRAWING NO.: x
t]
FL—-20873.1 -
o
N
©




